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Code trace — the program stack [ compsci 101

e Lecture 9

NN—
def fun_2(age): §§§§§§ Hangout
years = age + 10
print("3.", years)
def fun_1l(years):
print("4.", years)
6 years = 20
def main():
years = 5
fun_ 1 (years)
10 print("1.", years)
11 fun_2(years)
12 print("2.", years)
13 [main()
9
1 | def functionl(): EXCEFCiSE
2 print ("A")
3 function2(3)
4 print ("B")
5 | def function2(num):
6 print("C")
7 function4 (num - 1, num - 2)
8 print ("D")
g9 |def function3(number):
rint ("E", number
10 P ( ! ) #the output
11| def function4 (numl, num2):
12 print ("F")
13 function3 (numl + num2)
14| def main():
main() function
15 print ("G")
16 functionl ()
17 | main() :
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numl
def get part(digits, start, end): num?2
num = int(digits[start: end]) get_part{) (f=\
return num digits N4
start
def num_fiddle(digit_str, length): end
part way = length // 2 num
A get_part() TN
partl=get part(digit_str, 0, part_way) ( D
part2=get_part(digit_str,part_way, length) | digits D
return partl + part2 gﬂt
num
def display results(numl, num2): nam_fiddlel) PN
print(numl, ", ", num2, sep = "") digit str k\_,)
length
def main(): part_way
num = 3271 partl
fiddled=num_fiddle(str(num),len(str(num)))Dartz
display results(num - 5, fiddled) main()
num 3271
main () fiddled
° 12
Exercise
1l |def first(a): 0
[ ®
3 print("1.", a)
4 return second(a * b) + b
def second(a): () <:::>
print("2.", a)
return a % 4
def main():
first()
a=>5
10 b = first(a)
11 print("3.", b)
12 b = second(b) main()
13 print("4.", b) as
14 \main()




